[Tpoaonxute paabl.

« 18,...,30, 36,... ,... ,....
¢ 299, ..., 301, ..., 303, ....




Hanaunte 3HayeHUNA BblpaXXeHUMWN.

(500+46+54):100=

(520+180):100+80:16100=



[lpoBepbTE cebH.

20G




PewnTte ypaBHeHMUS.

o /ox=700




BbluncnuTe ycTHO.

e 320+80= 280-90=
¢ 500-20= 260-3=

¢ 350+50= 120-30=
¢ 530+26= 740+70=




Hanaute sHauyeHus
BblpaXXeHUMWN.

e 88:22= 70:35=
e 33:11= 48:16=
e 34:17= 68:34=

e 96:24= 39:13=




HanguTte yucno, KotTopoe

e A) B 10 pa3 bonblie 30;
e b) B 8 pa3 meHbLue 800;
» B) B 3 pasa 6onbue 150;
e [') B4 pasa 6onbLue 80.




Cnacubo 3a pabomy!






